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This Question Booklet is printed in two languages—^Hindi and English. Examinees can select any one of the
two languages according to their convenience.
There are two papers in the State Eligibility Test. The first question paper (compulsory question paper) is
General Paper on Teaching and Research Aptitude. The second question paper is the subject selected by the
examinee. Only one combined OMR sheet will be provided for both the question papers. The Second paper of
optional subject will be given to the examinee at 1 p.m. The code of the second question paper subject selected
by the examinee should be marked in the OMR Sheet. The booklet number of the second question paper has
to be marked in the necessary entries. The examinee can start second question paper at 1:05 p.m. There are
100 questions in the second question paper (optional subject). The squenee of these questions is 51 to 150. In
a combined O.M.R. Sheet, the examinee should mark the answers of the second question paper in the part of
Second Question Paper. The examinee himself will be responsible for marking the answer in the wrong
order.
All questions are compulsory.
All questions carry equal marks. 2 marks will be given for each correct answer. There is no provisions for
Negative Marking.
On the cover page the number ofpages is indicated in the Question Booklet. The examinee should verify that
the requisite niunbcr of pages are attached in the Question Booklet, otherwise he/she should ask for another
Question Booklet.
Read carefullythe instructions given onthe AnswerSheet (OMR Sheet) supplied and indicate your answers accordix^y.
Kindly make necessary entries on the Answer Sheet (OMR Sheet) only at the places indicated and nowhere else.
Examinee should do all rough work on the spaces meant for rough work in the pages given in the Question
Booklet and nowhere else, not even on the Answer Sheet (OMR Sheet).
If there is any sort of mist^e either of printing or of factual nature in any question, then out of the Hindi and
English versions of the question, the Hindi version will be treated as standard.

10. Use of any type of calculator, log table etc. is prohibited.
11. Examinees will leave the Examination Hall only after handing over the OMR Sheet to the Invigilator at the
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51. [HHldRsld

^ "*3^ t" ?

(A) '-W^

.  (B)

(C) 31^u^dl

(D) Tk-Xf^ ̂  ("^ Ti^)

52. PiMfcrifed ^ ̂ ̂  TR#T

^  ̂ t ?

(A) 3tMw

(B)

(C) ̂

(D)

53. PlHreiR^d t 1^1^

"SRI "q^ 1T^ TT^kr ftdt* ̂

ctj^A TPTRT <+i^.cil ^ ?

(A) XI^FRT

(B) TMl

(C) "q;^*

(D) "?T^

54. ^TRd -frlin^-Md ^ "feT ^

■^, TTfpT wikr ^ "qr wnajT ir
^ ?

(A) 1954

(C) 1971

(7)S/6/2022/A

(B) 1965

(D) 1974

51. Which one of the following elements is
not the basic characteristic of a Nation
State ?

(A) Sovereignty

(B) Nationalism
(C) Territorial integrity

(D) Non State Actors

52. Which among the following is not the
method of manifesting National Power ?

(A) Persuasion

(B) Reward

(C) Punishment

(D) Non-alignment

53. Which among the following is the means

by which a Nation seeks to secure its
National interest ?

(A) Diplomacy

(B) Propaganda

(C) Treaties and Alliances

(D) All of the above

54. . In which year was the treaty of
Friendship, Peace and Cooperation
between India and USSR signed ?

(A) 1954 (B) 1965

(C) 1971 (D) 1974

P.T.O.



55. ^ ^

(A) "^Tfe

(B) ^

(C) ̂ nf^RJk 'm^

(D) rRR #2R^r

56. fq-ciK osm 1^RT 2TT 1^

xsn itf!r "q;^* "O^-^

^  OT 3TOt

MSN ^ OHIOMI ^ ■^jfplt

RTfelT 1"

(A) ■^. ^. 3TR TR

(B) ^iTR

(C) 135.

(D) "fw

57. TTPei Cq?T.TT.-qt.^.-q;.) srfwT t :

(A) W2T ^Tm-i rM4iTPfNd

(B) ^ "qiMs

(C) W2T -3TT?7t^ ^ ̂  TTiMs

(D) W2T 4TRi^l [uMd

55. The assumption of 'one for all and all for

one' is related to :

(A) Balance of power

(B) Collective security

(C) Nuclear deterrence

(D) Detente

56. Who has opined that "In fact, defence

policy and foreign policy are

complementary to each other and must

be worked out to provide mutual

support ?"

(A) P. V. R. Rao

(B) Mahendra Kumar

(C) K. M. Panikkar

(D) Nagendra Singh

57. SAPTA stands for :

(A) South Asian Preferential Trade
Agreement

(B) Sino-Australia Preferential Trade

Agreement

(C) South African Parity Trade
Agreement

(D) South Asian Policy Trade
Agreement.

(7)S/6/2022/A



58. PHMRrir^d

(A) ̂  ■'TT 3#T^
cTM ■^* f^rtecIT

(B) ^ <1^1 41 ■^1
A4i^4 «i(3iqi ^

(C) "^Bt ^ 1m W
h-aM qi^ii

(D) ^Rqqi ^ q<siqi ^

59. 3RRf6^ *"3^ ^

"t ?

(A) ¥5^ TI^

(B)

(C) TI^

(D) 37Tf^m

60. Ac+>41^H rHHRriUsId "4' ^

^  t?BT "I ?

(A) HRd-HlPhWH

(B)

(C) W-^FeTT^

(D) mcT-^

(7)S/6/2022/A

58. The term 'Detente' refers to which one

of the following ?

(A) Relaxation in military tensions

between two or more states

(B) Promotion of friendly relations

between two or more states

(C) Providing most favoured Nation's

status to a neighbour

(D) Promotion of cosmopolitan culture

59. Which International organisation is' called

as the 'Child of War' ?

(A) United Nations

(B) NATO

(C) League of Nations

(D) ASEAN

60. McMahon line is a division line between

which of the following countries ?

(A) India-Pakistan

(B) India-China

(C) India-Bangladesh

(D) India-Bhutan

P.T.O.



61. wiciRiqi Rdcbl*

^  ̂ sft ?

(A) (B) dilldcr^

(C) 1^ (D) TTTsit ^

62. Pl^^RrlRad "^* "f^i^T^ [q-qK ohckI

1%^ 81T '-q^ ^ wflf^

T^T "e:^

"3^ ̂  ^ aik #r '4*

?

(A) "tenM (B)

(C) (D) TTTsit ^ ̂

63. ^ 3T3^tr,
"RX ^37Rit enoiT

SRT ^fhr qF)t ^ ̂Hqiol

tl" rHHTdRsld ^ ^5^

^■* ^ ̂  ^ITfe t ?
(A)

(B) hRc^^H ^
(C) ciW
(D) 3H^qd ^-qt

64. PdHRiR^d WldP^ch RddiT
•3^ ^ ^ RHo^mT' ^ ^
■^TRn "I" ?

(A) "q. "q^.

(B) "0^. %fe?r

(C) '^. y,4>.
(D) TT. -ii.

(7)S/6/2022/A

61. Who among these strategic thinkers
advocated using 'women as weapons of
war' ?

(A) Machiavelli (B) Kautilya

(C) Sun Tzu (D) Mao Tse Tung

62. Who among the following has opined

that we must 'first attack the enemy's

strategy, then his alliance, next his army

and last his cities' ?

(A) Machiavelli (B) Kautilya

(C) Sun Tzu (D) Mao Tse Tung

63. According to Douhet, "During war a
quick victory could be won by early air
attack on the enemy's 'vital centres'".
Which among the following is included
in his list of 'vital centres' ?

(A) Industry

(B) Transport Infrastructure

(C) The will power of the people

(D) All of the above

64. Which among these strategic thinkers
is known for his 'nine principles of
war' ?

(A) A. H. Jomini

(B) B. H. Liddell Hart

(C) J. F. C. Fuller

(D) A. T. Mahan



(A) iVifs^n "^T^

(B) ■^. '^-

(C)

(D)

66. 1^ ̂  «Tr 1% (^)
3r^ -p^ ■^* "^^iddl "^rf^

t' ?

(A) Tfe^

(C)

(B)

(D)

67, IdMl^Hslcl dilRldil-O
an "f^ * liRcrdl imtto

:5^ 3^ra^3ff ^ aqpq ^

(A) (B)

(C) iTT3^ ^ ̂  (D)

68, ^ ̂  '"^ ̂  3TfWT "^TfOT
^IsiilHdi f W^ P ̂

p Pd^HH f' ?
(A)

(B) cilci

(C)

0) airai^ ^

l7)S/6/2022/A

65. Who formulated the Theory of
Expanding Torrent ?

(A) Liddell Hart

(B) J. F. C. Fuller
(C) Jomini

(D) Moltke

66. Who has said that Tt is not gold but
good soldiers that ensure success in
war' ?

(A) Moltke

(C) Jomini

(B) Machiavelli

(D) Clausewitz

67. Who among these revolutionary thinkers
had said that 'the political objectives of
Guerilla warfare must coincide with the
aspirations of the people so as to gain
their sympathy, cooperation and
assistance' ?

(A) Lenin (B) Stalin
(C) Mao Tse Tung (D) Che Guevara

68. Who said that 'Truth and Non-violence
are active aggressive forces having all the
qualities of violent war' ?

(A) Mahatma Gandhi

(B) Jawahar Lai Nehru

(C) J. B. Kripalani

(D) Acharya Vinoba Bhave

P.T.O.



69.

(A) ■^. Antiy-s<

(B) 'ii^cil

(C) -q

(D) f^T^

70. v^ wwm

m\^ ̂  1^mN (iwft

^^*) ^ w ^ ?

(A) T^.

(B) 5<Hi ctiH

(c) r^r^i

(D) ^

71. 3Hld^ciK ^ ̂  -qr £^

1987 "qr W %tT M ^ ?

(A) "51^ (B)_ chiciHl\

(C) WmmR (D) ^IdHl

72. sTRTft ^ TTw^ ^ "f^ ̂  ̂3ncn

t ?

(A)

(B) "OTqfe

(C) ^sm

(D) (B)-^ (C)

{7)S/6/2022/A (

69. Who authored the book entitled 'The

Command of the Air' ?

(A) H. J. Mackinder

(B) Guilio Douhet

(C) A Severesky

(D) W. Mitchell

70. Who has coined the word 'Siamese

Twins' for the nuclear deterrence and

conventional deterrence ?

(A) J. F. Dulles

(B) Harmann Kahn

(C) Henry Kissinger

(D) Andre Beaufre

71. Where was SAARC Regional
Convention on Suppression of Terrorism,
1987 was signed ?

(A) Dhaka (B) Kathmandu

(C) Islamabad (D) Colombo

72. What is known as poor man's atomic

bomb ?

(A) Cyber weapons

(B) Chemical weapons

(C) Biological weapons

(D) Both (B) and (C)



73. 3TRi" "drTeT (LTTE)
^  ̂ l^TT ?

(A) ,1971 " (B) 1978

(C) 1976 (D) 1983

74. Rh-sici f :

(A) "#5^1

(B) ̂ F1?TT "q^

(C) l^^wiNTT'qT

(D) ̂ qj^ ̂

75. ^Re^l "5^ -y-MleH ^ Pi+^RiRaa
^  T3;q7 ̂  t ?

(A) arpjM (B) ^

(C) (D)

76. RinrdRsid -4* ^ ̂

tejq ^ 3715 Rn-smT "qq 11^

■q?f t ?

(A) WRH

(B) wm ^ Ridoqqdi

(C)

(D) W

77. 51^ "q^t dJld^nl w w^flqr
cqqd «*i<d1 "i" ?

(A) TO-1

(C) W-5

(7)S/6/2022/A

(B) TO-3

(D) ™-7

73. When was Liberation Tigers of Tamil
Eelam (LTTE) formed ?

(A) 1971 (B) 1978

(C) 1976 (D) 1983

74. The concept of deterrence is based on :

(A) Communication

(B) Capability

(C) Credibility

(D) All of the above

75. Which of the following is an Intangible
factor for the conduct of Guerilla war ?

(A) Supply system (B) Space ■

(C) Man Power (D) Weapons

76. Which principle of war from the
following is not a part of Fuller's eight
principles ?

(A) Administration

(B) Economy of efforts

(C) Cooperation

(D) Security

77. Which article of NATO Charter talks
about collective defence ?

(A) Article-1 (B) Article-3

(C) Article-5 (D) Article-7

P.T.O.



78. "f^ ̂

(A) 2013

(C) 2015

(B) 2014

(D) 2016

79. m ^ "q^ wftfe

^I^4K1 ^371 :

(A) MlPcbWH (B) W

(C) (D) ̂

80. 1998 "^' ^ WTF3 ^

^ ?

(A)

(C) ̂

(B) WWi

(D)

81. '^mK ^ ?TT^ ̂ STT ?

(A) 1972 (B) 1985

(C) 1975 (D) 1987

82. riHldRsid

^ "^snfqtT % ?

(A) ^ "^fr^T

(B) ^

(C) cidl^dltrdil ^

(D) ^

(7)S/6/2022/A

78. In which year India became a member of

Missile Technology Control Regime ?

(A) 2013 (B) 2014

(C) 2015 (D) 2016

79. India's First strategic partnership

agreement was with :

(A) Pakistan (B) France

.  (C) Germany (D) China

80. Where were Pakistan's nuclear tests of

1998 conducted ?

(A) Chasma

(C) Kahuta

(B) Chaghai

(D) Khusab

81. When did the Biological weapon

convention come into force ?

(A) 1972

(C) 1975

(B) 1985

(D) 1987

82. Which among the following treaties does

not establish a nuclear free zone ?

(A) Treaty of Rorotonga

(B) Bangkok Treaty

(C) Treaty of Tlatelolco

(D) Treaty of Moscow

8



83. ^ wm # "3^

"TO ^ ^

^ :

(A) 3feT

(B) TRTFTfe -^fsm

(C) 4^u^dH

(D) W 3Td^ -^rfq

84. "U^ ̂  ^ ̂

^TT^ ̂  -^STTW ̂  ̂ ̂ sft ?

(A) 1945

(C) 1952

(B) 1946

(D) 1955

85. V^. it. -it. ^ 3T%TT ^d^dH ̂

I^IT S7T ?

(A) 1985 (B) 1972

(C) 1992 (D) 1995

86. -fer ̂  srifejt "itiz i

1999 i* 3:T5ifqq fen ?

(A) ̂ rfwn it #1^ "iTi?

(B) -^eii-ii

(C) 1371. -Q^.

(D) "it. it.

87. ^

"TO sn ?

(A) 1952

(C) 1946

(7)S/6/2022/A

anfe ̂  "ronr

(B) 1956

(D) 1960

83. The disarmament efforts that backfired

and led to intensify the arms race :

(A) Ottawa convention

(B) Chemical weapon convention

(C) World disarmament conference

(D) Outer Space Treaty

84. When was Atomic Energy Commission

established under the Charter of United

Nations ?

(A) 1945

(C) 1952

(B) 1946

(D) 1955

85.

86.

87.

When was the last review conference of

N.P.T. held ?

(A) 1985 (B) 1972

(C) 1992 (D) 1995

Which treaty was not ratified by the US

Senate in October, 1999 ?

(A) Washington Naval Treaty

(B) START-n

(C) INF Treaty

(D) CTBT

When was the United Nations

Disarmament Commission created ?

(A) 1952 (B) 1956

(C) 1946 (D) 1960

P.T.O.



88. Tj;. T3?T. ^ r^^=hi

?

(A) ̂ -I

(B) -W^-U

(C) TfT^-I

(D) ̂ -n

89. MK*MR=h "gRro ^ "qr ^

■^* t :

(A) ^

(B) ^ "^-5 ^

(C) ■sik Hlil

(D) 3Tkft^, ktf^ ^

90. ■QTT.TT^T.'srt. ^ ̂  -W^ t ̂  :

(A) ^-WTT^ ^ WTTJ yklRiRh-MT

wRot ^ t

(B) ^ARctii "qiT^iT t"

(C) WTF3. ^ aTPjM "qr

(D) ci4£«W

(7)S/6/2022/A 10

88. The A. B. M. Treaty was a part of which

of the following ?

(A) START-I

(B) SALT-n

(C) SALT-I

(D) START-n

89. Signatories of Conventional Weapons

Cut Treaty includes :

(A) USA and USSR

(B) P-5 Countries of UNSC

(C) African Union and NATO Countries

(D) USA, USSR and European

Countries

90. N.S.G. is a group of Nations which :

(A) Control transfer of nuclear

technologies to non-nuclear states

(B) Led by USA

(C) Control supply of nuclear fuel

(D) All of the above



91. PtHP^r^d "4' ̂  ^ "p: ̂

^ -^^rcrld ^ t ? -

(A) 1947—1^ 1pRT

(B) 1955—"^^

(C) 1956—"^ "^*

(D) 1960—^PJ^T f^WT

92. ^ ?

(A) 3171^-1990

(B) 1W^-1990

(C) 31^^-1990

(D) -^^^^-1990

93. '"^n^ wVldiM' t ?

(A) at^-O

(B) -qft^

(C) W w

(D)

94. rHHRrir^d ^f ̂  ^

t ?

(A) WH'dld (B)

(C) ̂  (D)

(7)S/6/2022/A

91. Which of the following pairs is not

conectly matched regarding the Cold

War ?

(A) 1947—^Truman's Doctrine

(B) 1955—Signing on Baghdad Pact

(C) 1956—Soviet Intervention in
Hungary

(D) 1960—Cuban Missile Crisis

92. When did Iraq invade Kuwait ?

(A) August-1990

(B) September-1990

(C) October-1990

(D) November-1990

93. With which the 'Palermo Protocol' is

related ?

(A) Human trafficking

(B) Climate change

(C) Food security

(D) Nuclear security

94. Which of the following is a Biofuel

related plant ?

(A) Jatropha (B) Neem

(C) Bamboo (D) Coconut

11 P.T.O.



95. Pinl^Raa ^ "sferr

^  ̂ ^ t ?

(A) 1945—

(B) 1950— (ffe)

(C) 1974—^

(D) 1998—MlP^fiWH

96. PHHrdRsld -4' ^ ^

^tfM-4)KNI<^ '?rEr4 4[ wtt -q^

t ?

(A) 3TT4f¥iT-3Tvni^

(B) wfMqr-"^

(C)

(D) 3^cr4^-^

97. -mi arP^rfq^, 2013' ̂

^ l^TT ?

(A) 4 2013

(B) 5 ■^, 2013

(C) 6 2013

(D) 13 2013

98. 15 1988 ^ •4*

pLhPdwiH ^ ̂  "4tw ^

■rpft ?'

(A) 1^f4I (B) "qifm 3TOW

(C) (D) 4f^H tqiT

(7)S/6/2022/A 12

95. Which of the following pairs is not
correctly matched regarding the Nuclear
tests ?

(A) 1945—United States of America

(B) 1950—^United Kingdom (Britain)

(C) I974~India

(D) 1998—Pakistan

96. Which of the following two countries are
the conflicting parties in the Nagorno-
Karabakh conflict ?

(A) Armenia-Azerbaijan

(B) Georgia-Russia

(C) Ukraine-Russia

(D) Azerbaijan-Russia

97. When did the 'National Food Security
Act, 2013' come into force ?

(A) 4 July, 2013

(B) 5 July, 2013

(C) 6 July, 2013

(D) 13 July, 2013

98. Who made the declaration of the

Independent State of Palestine in Bahrain

on 15 November, 1988 ?

(A) Jimmy Carter (B) Yasser Arafat

(C) Anver Sadat (D) Begin Haifa



99. ^TfW-2023*

^  Tit2T -g^ 7

(A) r=+)*Jl^M (^^.)

(B) XRT ("^"^-"R.)

(C) ̂

(D) ̂ T^Pd-m

100. 4H^WI«(1 f^chl'H ^ "SP^

i^ ̂  ̂ ^ TT^ ttftWt

"frWH ̂  ̂3im ̂  Tj^ft ?

(A) 2004 (B) 2005

(C) 2006 (D) 2007

101. "#T ■^* ^ ^ ̂

^ ?

(A) <ClH ctiMK ^6'<F\

(B) ^."PTT. MpJ|4=h<

(C)

(D) "QTT. HWT

102. PdHrdPteld "4' ^ ^

^ -M-d^Dd imW ?

(A) 1954

(C) 1956

(7)S/6/2022/A

(B) 1955

(D) 1957

99. The joint military exercise 'AJEYA
WARRIOR-2023' was concluded

between India and which country ?

(A) United Kingdom (U.K.)

(B) United States of America (USA)

(C) Russia

(D) Australia

100. To achieve the millennium development

goal in which year 'The National Rural

Health Mission' was started by India ?

(A) 2004 (B) 2005

(C) 2006 (D) 2007

101. Who was the first ambassador of India

to be appointed in China ?

(A) Ratan Kumar Nehru

(B) K. M. Panikkar

(C) P. K. Baneqee

(D) N. Raghwan

102. In which of the following years

Panchsheel Agreement was signed by

India and China ?

(A) 1954

(C) 1956

(B) 1955

(D) 1957

13 P.T.O.



103. 20 2023 ̂  ^

^ ̂ sft ?

(A) (B)

(C) H^lfw (D) a^ikir^

104. ^ ̂  rHHRriPteld ^

t ?

(A) "2?^ ^ ̂  ̂ ̂ (aM^) ̂

t

(B) ̂  -q^* fT627 T3^

(C) mPhWH HRfT ^ "q^

aTTf«f^ JlPd^KI t

(D) aq^dd ■^* "5^ ■^Twf

105. IW^T ^ ^ mPd^WH
^  % 7

(A) Hlilldd ■TO-isl<^Odl
(B) W "TO

(C) pHdldl 4^ Pdd^A'^dl
(D) dM^cKI

106. ata ttiT "q^fWH "TO
4afnT^ (aTT^.afl.a[R.-"q;.aTR.^.) ^
^P^dldd ^ t ?

(A)

(B) 4dHV4d^

(C) T^^arr-^fTj^

(D) ^f^-"rfRtTO

103. Where was the Quad Leaders Summit

held on 20 May, 2023 ?

(A) Tokyo (B) Nagasaki

(C) Hiroshima (D) Osalm

104. Which one of the following is correct
about CPEC ?

(A) It is a part of One Belt One Road

(OBOR)

(B) It is an economic corridor between

Sri Lanka and India

(C) It is an economic corridor between

Pakistan and India

(D) None of the above

105. Which Area of the Siachen Glacier is

controlled by Pakistan ?

(A) Motorable Pass-Khardungla

(B) Gyong La Pass

(C) Siala and Bilfondla

(D) None of the above

106. Where is the Secretariat of Indian Ocean

Rim Association for Regional

Cooperation (lOR-ARC) ?

(A) Tehran-Iran

(B) Colombo-Sri Lanka

(C) Port Blair-India

(D) Port Louis-Mauritius
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107. mPchWH ^ ^

(A)' 1958 (B) 1959

(C) 1960 (D) 1961

108. *3ffq^ fer ^

"W ?

109. 1971 ̂  ^ ̂

(A) ^

(B) 1^

(C) "ZRRRT

(D) idc|< RhV

110. '^' ̂  "W ̂  ̂

Mt ?

(A) 1992

(B) 2000

(C) 2014

(D) 2022

(7)S/6/2022/A

107. When was the Indus Water Agreement

signed between India and Pakistan ?

(A) 1958 (B) 1959

(C) 1960 (D) 1961

^  108. 'Operation Tupac' was launched by

which country ?

(A) (B) (A) America (B) Sri Lanka

(C) (D) mPbWH (C) China (D) Pakistan

109. Who was India's Foreign Minister during

Indo-Soviet Treaty of 1971 ?

(A) Sardar Swaran Singh

(B) Baldev Singh

(C) Yashwant Singh

(D) Natwar Singh

110. When was the 'Act East Policy'

announced ?

(A) 1992

(B) 2000

(C) 2014

(D) 2022
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111. 1979 ̂  ^ ww

■31^^ 3T^ 1^ W an ?

(A) WT 37^ J14^K ^

(B)

(C) "HtTTRT

(D) H'^Qii

112. mm ^ ^ Wf^
^ t ?

(A)

(B) tf. ^ ̂

(C) "0^

(D) ^

113. TT^ITT "4* ^ ^FT

?

(A) 22

(C) 35

(B) 25

(D) 39

114. TctW ^ ̂ 3^ sfk fMfT#* :

(A) TT^ fer ^ t

(B) 1%cl ^ ̂  t

(C) -q^* SRRf^ f^ ^ ̂

t

(D) ^qfero ItcT it ̂  t

(7)S/6/2022/A 16

111. Who was awarded 1979 Jawahar Lai

Nehru award -for International

Understanding ?

(A) Khan Abdul Gaffar Khan

(B) Martin Luther King

(C) Frontier Gandhi

(D) Nelson Mandela

112. Who called Mahatma Gandhi's Satyagrah

as a peaceful rebellion ?

(A) Kwame Nkrumah

(B) Dr. Yusuf Dadoo

(C) Albert Luthuli

(D) Jawahar Lai Nehru

113. How many countries participated in the

first Non-aligned Summit ?

(A) 22 (B) 25

(C) 35 (D) 39

114. In objectives and limitations of

extradition :

(A) National Interest are involved

(B) International Interest are involved

(C) National and International Interest

are involved

(D) Personal Interest are involved



115.

^ "T^ "^itw ̂  ^

(A) 1985

(B) 1990

(C) 1993

(D) 1997

116. "^3^ W ̂ ^ 313^ 33(1)

■MaiR?cl "1^ :

(A) ^CTH^Tf«=l^

(B) ?lff^ WI«1H ^

(C) ^ 3m?? ^

(D) ^ "9^ ^

117. ^ ̂ ̂  1^ ̂  ^

(c(rjmc^,|{l) ^iMl-M "I" ?

(A)

(B)

(C) Hf^M=6K C^rf?!#?)

(D)

{7)S/6/2022/A

115. When was the formation of Indian Ocean

Rim Association for Regional

Cooperation (lORARC) announced ?

(A) 1985

(B) 1990

(C) 1993

(D) 1997

116. Article 33(1) of U.N.O. Charter is related

to :

(A) Human Right

(B) Peaceful Settlement

(C) War Crime

(D) Use of Force

117. Which among these is compulsive means

of solving disputes ?

(A) Arbitation

(B) International Court of Justice

(C) Reprisal

(D) Enquiry

17 P.T.O.



118. ^liiPs^ch "3^

■^* t ?

(A) ^ "sitw, 1909

(B) ^ Hlci-H«i4 1922

(C) tn 1910

(D) W^, 1930

119. 20^ SjtolH fer ^ ■^'

STFifer ^371 ?

(A)

(B)

(C) ^

(D)

120. WTT^ ^ ^

"HT^-n '^J: ^ 1^ m, 7

(A) 1990

(B) 1979

(C) 1975

(D) 1978

(7)S/6/2022/A 18

118. Which one has an important role in Law

of Sea War ?

(A) London Declaration, 1909

(B) St. Petesberg Declaration, 1922

(C) The Hague Conference, 1910

(D) Geneva Convention, 1930

119. 20th ASEAN Summit was held in which

country ?

(A) Bangladesh

(B) Combodia

(C) Brunei

(D) Singapore

120. SALT-II related to limitation of nuclear

arms was signed in which year ?

(A) 1990

(B) 1979

(C) 1975

(D) 1978



121. PiMPein^d ^

t ?

(A) ^

(B) -ccill^ei 3nw

(C) wiT^

(D) -ctshqia

122. Hmm itm ̂

t :

(A) Pi^khI

(B) -qstiqia ^PtiM

(C) 3;TTW "3^*^

(D) ̂  ̂ ^

123. "f^

?

(A) 2003

(C) 2005

(B) 2004

(P) 2007

124. srm, ^

^  #T3H f^TT^ t ?

(A) ̂  TKTO

(B)

(C) Xl^hr 31^^ 3ITf^ct)<ui

(D) "aiRT

{7)S/6/2022/A

121. Which one of the following is an

example of Natural Disaster ?

(A) Bhopal Gas Tragedy

(B) Chernobyl Disaster

(C) Fukushima Nuclear Accident

(D) Cyclone

122. The Indian National Centre for Ocean

Information Services (INCOIS) is

primarly concerned with :

(A) Earthquake Monitoring

(B) Cyclone Tracking

(C) Nuclear Disaster Management

(D) Flood Forecasting

123. The National Disaster Management Act

was made in the year :

(A) 2003 (B) 2004

(C) 2005 (D) 2007

124. Which organization is responsible for

coordinating Disaster Management

efforts in India ?

(A) Central Govenment

(B) Indian Army

(C) National Disaster Management

Authority

(D) Indian Red Cross Society
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125. ^ [qwiH'l

3Tm ̂  t ?

(A) ̂

(B)

(C) ̂

(D) ■qsticiia

126. RhdA "^fer 'RT

t ?

(A) 7

(B) 6

(C) 5

(D) 4

127. ^ ^ ̂

Sim WFT t ?

(A) ^

(B)

(C) TOr3 37TW

(D) ^

125. Which disaster is caused by the sudden

displacement of a large volume, of

water ?

(A) Flood

(B) Tsunami

(C) Earthquake

(D) Cyclone

126. India is divided into how many seismic

zones ?

(A) 7

(B) 6

(C) 5

(D) 4

127. Which disaster is caused by the release

of radioactive materials into the

environment ?

(A) Flood

(B) Tsunami

(C) Nuclear Disaster

(D) Earthquake
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128. ("3OT§^)

3;n^ 31T^ ?

(A) 12 2013

(B) 14 2013

(C) 16 2013

(D) 18 2013

129. iiHin! ■^aiqnl
t?

(A) "fe^ (B)

(C) "5^^ (D)

130. -^sliclld ^ 1^ "SRI
WTRTT "^TRTT t ?

(A)

(B) 31t|,31R."RH.

(C) 3ltRRB

(D)

131. rHHPdRslcf ^ ^ 3#fe ^
<jm^ ?

(A) <idlKd

(B) "^T#! "S^Wf "^STTW

(C) oMPddMd ■^* ^

(D)

(7)S/6/2022/A

128. When did the biggest natural disaster

occur in Kedamath (Uttarakhand) ?

(A) 12 June, 2013

(B) 14 June, 2013

(C) 16 June, 2013

(D) 18 June, 2013

129. The Indian Tsunami Warning Centre is
located at :

(A) New Delhi (B) Chennai

(C) Mumbai (D) Hyderabad

130. A cyclone is detected by which satellite
in India ?

(A) INSAT

(B) IRS

(C) OCEAN SAT

(D) None of the above

131. Which of the following is a measure of
economic mobilization ?

(A) Increasing the production

(B) Establishing the -new industries

(C) Reduction in personal consumption

(D) All of the above

21 P.T.O.



132. TSiTT ^ fHHRrlRsld

^  Rh-^h ^ "^f ̂  ̂ t ?

(A) l^nSRI

(B) f^oSi'^

(C) 3Trffe wtoOT ̂  1%^

(D) ^

133. PHHfdf^d ■^* ^ ^ SIT 1^

"#n^ ^ ^ ̂  TR ■=^^ t" ?

(A) i<«W f^del<

(B) ^nlRri'm o(l'iiHi(I

(C)

(D) #1^ "g^fM

134. rdHPdr^d 1^ IdfsT ^ '1^

37feT^ ■^* 3M ?

(A) 1 ^5R^, 1995

(B) 11 -cT^, 1995

(C) 1 1996

(D) 11 ^5r^ 1996

132. The debate of Defence and Development

is known as which of the following

theories ?

(A) Gun-Butter Theory

Gun-Battle Theory

(C) Theory of Economic Empowerment

(D) None of the above

133. Who among the following is alleged to

have said, "An Army marches on its

stomach" ?

(A) Adolf Hitler

(B) Napoleon Bonaparte

(C) Joseph Stalin

(D) Benito Mussolini

134. On which of the following dates the

'World Trade Organisation' came into

existence ?

(A) 1st January, 1995

(B) 11th January, 1995

(C) 1st January, 1996

(D) 11th January, 1996

(7)S/6/2022/A 22



135. PiHPdndd ^

^ ̂  ̂5iHr ^5TmT t ?

(A) -^^-ii.^. ■

(B) 37Tf.TTrT.^.

(C) ̂

(D) M .

136. "MM^cT ̂  t '^tw *Wi iiz

^  ̂ ̂SIFTI 'SncTT t" ?

(A) STTH

(B) Ih^kh

(C) "^ffw

(D) aTienftcT

137. rHMPelRdd ^ #1B=T ̂  1994

1  'sucid "^f 37PTT 17

P44H^i ̂  "qr w^?Tm ?

(A) ̂uqer

(B) wer

(C) -5^^.311.

(D) ̂

(7)S/6/2022/A

135. Which of the following is also known as

*Dunkel Agreement' ?

(A) WTO

(B) IMF

(C) GATT

(D) NIEO

136. Which of the following is also known as

'Sun Set Budget' ?

(A) General Budget

(B) Performance Budget

(C) Gender Budget

(D) Zero Based Budget

137. Which of the following organisations

came into existence on 1st January and

signed on 17 December of year 1994 ?

(A) NAFTA

(B) SAPTA

(C) WTO

(D) GATT
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138. fHHRrin^cl ^ ̂  ^

"=T^f t ?

(A)

(B) ̂  (^n^)

(C) "3^^

(D) ̂ 3^ -^f ^ ̂

139. rHMHrlRsicl ^ ^

xr^ "sqm "3^* ^

(A) 1951

(B) 1964

(C) 1992

(D) "53^ -^f ^ ̂

140. rHMPdUsid t ^

(SAPTA) ̂  W3

t?

(A) ̂

(B)

(C) TTTel^

(D) i^lFlR

138. Which of the following is not a method

of Economic Warfare ?

(A) Blockade

(B) Black List

(C) Rewards

(D) None of the above

139. In which of the following years the first

United Nations Conference on Trade and

Development held at Geneva ?

(A) 1951

(B) 1964

(C) 1992

(D) None of the above

140. Which of the following countries is not

a member of South Asian Preferential

Trading Agreement (SAPTA) ?

(A) India

(B) Sri Lanka

(C) Maldives

(D) Myanmar
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141.

«Tr ?

(A) Tj;."^.^.

(B) TT^n TipTT

(C) srf^ ctii=t)l^qi<

(D)

142. **ft^-3fl^lRi<=H "^rfUR'

Mecil f^Ml ?

(B) ̂.137P".

(C) ̂  .

(D) tf^ A^HMKI

143. TI^ 1^ t :

(A) 4i<1<NK "A

(B) "A*

(C) "A

(D) A*

(7)S/6/2022/A

141. Who was the project leader of the

indigenous Indian Satellite Launch

Vehicle (SLY) ?

(A) A.P.J. Abdul Kalam

(B) Raja Ramanna

(C) Anil Kakodkar

(D) Vikram Sarabhai

142. Who used the term 'Military-Industrial

Complex' first time ?

(A) Eisenhower

(B) J. F. Kennedy

(C) Robert Kennedy

(D) Robert McNmara

143. National Institute of Solar Energy is

situated at :

(A) Faridabad

(B) Gurugram

(C) Gwal Pahari

(D) Kurukshetra
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144. cfiz^

M=hd< (■qt.y.^-^c^^TR.) f ?

(A) 22

(B) 12

(C) 8

(D) 18

145. rnHPciR^d ^ ^ ̂  ̂  (3fTR

^ W^<2l fcldcf) 7

(A)

(B) ^FTB^ '^*

(C)

(D) yklRl^n 3fk "gRRFT ^TqRTWf

146. wl^lRlchl 3Tf%Tf^, 2000 ^TOR
^H4iK1 ^ ^ ycblP^ld iRT ?

(A) 9 2000 (B) 10 2000

(C) 19 2000 (D) 29 ■^, 2000

147. TO ^ ̂  ̂  Tr.^-203

TITTO ^ ̂  "tol ?

(A) TPfH (B)

(C) RNH (D)

144. Presently, how many Pressurised Heavy

Water Reactors (PHWRs) does India
have ?

(A) 22

(B) 12

(C) 8

(D) 18

145. Which of the following is not a major

component of Revolution in Military

Alfairs ?

(A) Political will

(B) Change in organisation

(C) Infrastructure

(D) Technology and operational

concepts

146. When was Information Technology Act,

2000 published for general information ?

(A) 9 June, 2000 (B) 10 June, 2000

(C) 19 June, 2000 (D) 29 June, 2000

147. With which country India signed the deal

for manufacturing AK-203 Assault

Rifles ?

(A) France

(C) Japan

(B) Germany

(D) Russia
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148. RHPdnsid

=tii<=tj "i" ?

(A)

(B) wi

(C)

(D)

149. "spT^ stl^O ^iciR'^) 6Hcfl

^  I WR

^  I Pi^'duil' Pi'KnI

3Tk -q^t^ ̂  l" ̂  "H^^RT t :

(A)

(B)

(C) RHdAlRcil ^

(D) AdA^< TfttwT

150. "MM 3^ HdNK 2021 ^

"A, tfsAF "TO qi'fd-Mi ^4d1dMl "5^^ "A*

W ̂ WT t :

(A) 40

(C) 42

(7)S/6/2022/A

(B) 41

(D) 43

148. Which of the following is a biological

agent related to viral infection ?

(A) Typhus

(B) Q Fever

(C) Plague

(D) Arthropod-borne

149. "Protect your Networks against external

and internal attack. Manage the network

primer. Filter out unauthorised access and

malicious contents. Monitor and test

security controls.-" It is related to :

(A) Secure Configuration

(B) Incident Management

(C) Network Security

(D) Malware Protection

150. In reference of Technology and

Innovation report 2021, India ranked in

READINESS FOR FRONTIER

TECHNOLOGY INDEX :

(A) 40 (B) 41

(C) 42 (D) 43
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